
Nome: SoluzioniReticolato 2 a 2

Matematica www.CommonCoreSheets.it 1 1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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1. 385

2. 2.255

3. 1.365

4. 4.466

5. 3.162

6. 1.224

7. 1.920

8. 3.510

9. 2.945

10. 3.818

11. 3.481

12. 2.232

Usa la moltiplicazione del reticolo per risolvere ogni problema.
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Matematica www.CommonCoreSheets.it 2 1-10 92 83 75 67 58 50 42 33 25 17
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1)
99 × 31 =

9 9

3

1

2 2

0 0

6 9

7 7

9

3

0 9

2)
93 × 58 =

9 3

5

8

4 1

7 2

9 4

5 5

2

5

3 4

3)
46 × 16 =

4 6

1

6

0 0

2 3

3 6

4 6

4

0

7 6

4)
74 × 35 =

7 4

3

5

2 1

3 2

9 0

1 2

5

2

5 0

5)
96 × 28 =

9 6

2

8

1 1

7 4

8 8

8 2

2

2

6 8

6)
30 × 84 =

3 0

8

4

2 0

1 0

2 0

4 0

2

2

5 0

7)
55 × 37 =

5 5

3

7

1 1

3 3

3 5

5 5

5

2

0 5

8)
43 × 91 =

4 3

9

1

3 2

0 0

1 3

6 7

4

3

9 3

9)
78 × 20 =

7 8

2

0

1 1

0 0

6 0

4 6

0

1

5 0

10)
84 × 10 =

8 4

1

0

0 0

0 0

4 0

8 4

0

0

8 0

11)
61 × 10 =

6 1

1

0

0 0

0 0

1 0

6 1

0

0

6 0

12)
47 × 15 =

4 7

1

5

0 0

2 3

0 5

4 7

0

0

7 5



Nome: SoluzioniReticolato 2 a 2

Matematica www.CommonCoreSheets.it 2

Risposte

1. 3.069

2. 5.394

3. 736

4. 2.590

5. 2.688

6. 2.520

7. 2.035

8. 3.913

9. 1.560

10. 840

11. 610

12. 705

Usa la moltiplicazione del reticolo per risolvere ogni problema.

1)
99 × 31 =

9 9

3

1

2 2

0 0

6 9

7 7

9

3

0 9

2)
93 × 58 =

9 3

5

8

4 1

7 2

9 4

5 5

2

5

3 4

3)
46 × 16 =

4 6

1

6

0 0

2 3

3 6

4 6

4

0

7 6

4)
74 × 35 =

7 4

3

5

2 1

3 2

9 0

1 2

5

2

5 0

5)
96 × 28 =

9 6

2

8

1 1

7 4

8 8

8 2

2

2

6 8

6)
30 × 84 =

3 0

8

4

2 0

1 0

2 0

4 0

2

2

5 0

7)
55 × 37 =

5 5

3

7

1 1

3 3

3 5

5 5

5

2

0 5

8)
43 × 91 =

4 3

9

1

3 2

0 0

1 3

6 7

4

3

9 3

9)
78 × 20 =

7 8

2

0

1 1

0 0

6 0

4 6

0

1

5 0

10)
84 × 10 =

8 4

1

0

0 0

0 0

4 0

8 4

0

0

8 0

11)
61 × 10 =

6 1

1

0

0 0

0 0

1 0

6 1

0

0

6 0

12)
47 × 15 =

4 7

1

5

0 0

2 3

0 5

4 7

0

0

7 5

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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